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reg_asym_sam3 RMS (ppm)
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reg_asym_sam4 RMS (ppm)
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reg_asym_sam5 RMS (ppm)
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reg_asym_samé6 RMS (ppm)
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reg_asym_sam7 1D pull distribution
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reg_asym_sam_15 avg RMS (ppm)

[s¢] ©
Lo Lo

(wdd) sny

<
Lo

N
Lo

o
n

[ee]
<

(o]
<

<
<

2'69vS
T'691S
0'69vS
1’8915
9'891S
S'891S
7’8915
£'891S
2’8915
18915
0’8915
8'L91S
L'L9vS
9',9vS
S'L9vS
v'L9vS
€'.9vS
2'L9vS
T'L9vS
0,975
G995
'99vS
€'99vS
29915
T'99vS
0'99vS
9'99vS
S'99VS
v's9rS
€'991S
2'99vS
T'S9rS
0'99vS
L'v9rs
9IS
S'Yors
v'vors
€Vors
C'vors
Tvors
0'v9rs
L'E9VS
9'€9rS
S'E9VS
V'EIrS
€'E9rs
2'e9rs
T'E9rS
0'€9rs
6'¢9rS
8'C9vS
L'¢9rs
9'¢ors
S'2ovs
v'eors
€¢ors
2'29vs
T'eors
0'¢ors



5] [=2] o (=] © < © o
& S > S 3 3
~ @© 2 N < S
o = © M =] o
+ o © I + + 1
© + 5 < o .
2 I - D o n
S 3 N 8 —]
=] ] @ [} B
IS IS] ! .
- & 3 _ = .
@ T 2 k=1 8 o] —]
m a [} =4 c %] M £
c ] = B g ~ 5 o} i=) N
o = o > [} x O = o -
=
=}
b -
= _ ]
= ]
R I ]
S h ]
— L -
= b ]
o /J
o
i -
Ly by by by b b by by o T
© < ~ o C3) © < o~ =)
- - - -
o O
~ O
- M =
——— —
%+_ -
To R .
(e 0] -
AN —_———i H
N~ 1
— ——— -
— 1
© — H
c — —
- .
N O ]
o< . . .
> — -]
a_ .
——— —
6 —
N —_—— H
m_ 3
@© .
n -
m_ -
> ]
7 ———— -
a_ 1
o)) -
[ 1
— —_—— —
————— —
— —
—— —1
Wl FESS rvww s oy AN R SRRI SRNE RRRERE
o o o o [} o o o
S S S S S =} S
S S =) S S =) S
o © < Y N ¥ o




reg_asym_sam_26_avg RMS (ppm)
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reg_asym_sam_37_avg RMS (ppm)
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asym_sam3 RMS (ppm)
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